CHAPTER 8

¥8E

M , 2M Bz 5zEVEL
AM-R, 4M~-F series MILLING SPINDLES

7M-50F-AP , 2M-50R-AP
TM-50F-K-AP , 2M-50R-K-AP 06 |
7M-60F-AP , 2M-60R-AP =
7M-60F-K-AP , 2M-60R-K-AP 100
2M-75R-AP
2M-75R-K-AP e
2M-85R-AP
2M-85R-K-AP
2M-100R-AP
2M-120R-AP 107
4M-60F—AP, 4M-60R-AP 108
4M-75F-AP, 4M-75R-AP
4M-85F—AP, 4M-85R-AP 110
4M-100F-AP, 4M-100R-AP

—
—
N

4M-120R-AP

93



™, 2M, 4M-R, 4M-FEIZ—1) L T AE VR

M, 2M, 4AM-R AND 4M-F SERIES MILLING SPINDLES

MODEL 7M-50F-AP, 2M-50R-AP

]
~ . . ~
= i S
l / \ ! s
o (R ]
e &)
E [N
! 190 115 45
55 320 30 160
565
4-¢ 16 Head fixing hole 65 _ 190 65
F Arbor drawing bolt
e (Standard accessory)
Option V| M
2-20H7 18 Deep (Dowel hole) —E ¥
(Machined at your request) 20 280=x0. 02

o FIFERMEEHESMSE TS,
® HERKE—S—KA

® Please specify the operating speed when placing an order.
® Max. allowable motor output

TM-50F-AP: 3.7 kW IM-50F-AP: 3.7 kW
2M-50R-AP: 3.7 kW 2M-50R-AP: 3.7 kW
o JRERER ® Standard paint color

<EILE 75B7/2

Munsell code 7.5B7/2

* FEEEH. 13— ((ERLOEER) B, *¥ For CW rotation, refer to page 13 (Notices in operating).
¥ F—N—FAAVRIL DR D TiRETIRETSLY, * Please specify the thread dimensions of the arbor
(REMRR) drawing bolt. (Standard accessory)
R RRERSEE JUy—z@E |vA4o07+5 MR RALOTAT A= RETH
Guaranteed Static Accuracy Grease Lubrication| Microfog Lubrication Microfog Unit (Number of Drops)
AEUEIARN (FA R/ A—200 mm®D L E) 15 pmBEAA ISOFLEX IM-50FMF ,
. 1SO vG32 4 drops/min
Run-out at spindle (200 mm (free end) on test bar) Within 15 pm NBU-15 TM-50FMF-SKF
o .
ERSXEGEHCGEELSR) .
B3t BRRTULT | el Spindle Speed | TV E 52 AYRBAR L
Model Bearings ) 0.D. of Quill Net Weight Head Fixing Bolt
(Temperature Rise)
7")—1 -1
TM-50F-AP i 4
i-iaio6pd Grease 3000 min ' (15°C)
- 2-#7210CP5 | =4/4507%4 <Ay RES
TM-50FMF Miencts 5000 min”' (20°C) Total istweight = 00 K& 4-M14 X 60
ﬁ‘IJ_z — 5
TM-50F-SKF-AP i ° 120h6 (REMTE)
s | Grases 3900 min~' (15°C) | @ e
¥ ¥ 2-#7210CD/P4 | =450 744 e HLIER (Standard accessory)
- SHFME-SKE Microfog 6500 min "~ (20°C) Quill net weight. ~ sike
B g 2-#32210P5 S1)—2=2 o o
2M-50R-AP 2-#7210CP5 Grease 2000 min~ (15°C)

94




™, 2M, 4M-R, 4M-FRIZ— T ZEVFIL
M, 2M, 4M-R AND 4M-F SERIES MILLING SPINDLES

3-Rc1/4
(Microfog In)

[ ——
|

out ) \\ 282 /) | out .
D S ) \\/1 >
IN=50MF 2-Rc3/8
219 (Drain, either one to used)

Rc1/8
(Air purge) 20

@ (T Bl
?Eiisfﬁfﬁéﬁé<g Ekt_ f:‘ J < °’7‘ ’j L

TM-50F-AP and 2M-50R-AP

Air purge )
Fluid Cooled Type 160 2-Rc3/8
T3
3
4MI0OX16 M10(3&-16 UNC)

54
3175
v
N\
M12
Uet)

T

4 69.832h7
16
pe— el

]

|

EF

8 M12(Y/2-13UNC)
. Hex. socket bolt 16 JISB6101 No.30
15.9h7 2-M6X20
12h9
SEEF
0 - M42P1.5(LH THD)
80 75 /.

¢ 42h7
1

H=
=

— j%f’t' ‘

90 25 | ™_Pulley locking nut

115 45

T —Er— L HERIBETT . RIERTHER TS,

Pulley shaft with key is available at your request. Please specify when placing an order.

85



™, 2M, 4M-R, 4M-FEIZ— LT ZEVFIL
M, 2M, 4AM-R AND 4M-F SERIES MILLING SPINDLES

MODEL 7M-50F-K-AP, 2M-50R-K-AP

ﬁ
; ) i i ~
[ K N ] == ‘ ](@’ g
Ve S
H- P S
o /B 2 - A
(&) fif| ===ics
7 - 7
3 = il
190 ‘ 50 270 115 45
55 320 30 160
565
4-¢p 16 Head fixing hole 90 190 40
Arbor drawing bolt
(Standard accessory)
E T
Option LIJ—(
2-¢$20H7 18 Deep (Dowel hole)
(Machined at your request) 70 230+0.02
o FIB{ERMEEHESMSET TSI, ® Please specify the operating speed when placing an order.
® “NAEVEIILOREEE (U1L) [XTM-50F-AP, ® The quill of these spindles is identical to that of Models
2M-50R-APLEl— T, ¥ —ADHF—IN\—N\U T ZAT TM-50F-AP and 2M-50R-AP, except that only the case
{TH->TWET, is an overhang type.
® HERBRKRE—S—EN TM-50F-K-AP: 3.7 kW ® Max. allowable motor output  7M-50F-K-AP: 3.7 kW
2M-50R-K-AP: 3.7 kW 2M-50R-K-AP: 3.7 kW
o TSRS TLJLE 75B7/2 ® Standard paint color Munsell code 7.5B7/2

HEEEER., 18 R—2 (ERLOEE) B,

* For CW rotation, refer to page 13 (Notices in operating).

F—I—FOARILED RO T EETHRET S, * Please specify the thread dimensions of the arbor drawing
(1E#EATR) bolt. (Standard accessory)
FHREERS B JU—R@E/ |vAo07+7 i8R RAo07F T 1= ETR
Guaranteed Static Accuracy Grease Lubrication|Microfog Lubrication Microfog Unit (Number of Drops)
AE R IARN (T AR/ A—200 mmD i ) 15 pmELA ISOFLEX IM-50FMF-K ,
. [SO VG32 4 drops/min
Run-out at spindle (200 mm (free end) on test bar) Within 15 pm NBU-15 TM-50FMF-K-SKF
o .
ERSXEGEHCEELR) .
B3t BRRTUST [ N el Spindle Speed | 71 VIME B2 AYRBAR L
Model Bearings ) 0.D. of Quill Net Weight Head Fixing Bolt
(Temperature Rise)
F1)—= -
TM-50F-K-AP i °
A oepd Grease 3000 min' (15°C)
- - 2-#7210CP5 | w4450 7%4 T RES
TM-50FMF-K Henits 5000 min”' (20°C) Total netweight © 00 K& 4-M14 X 60
TM-50F-K-SKF-AP FU=2 3900 min~' (15°C) ¢ 120h6 (FREEMR)
3-#7210CD/P4 | Grease
¥ o s 2-#7210CD/P4 | =4 50744 ET— HLLER (Standard accessory)
TM-50FMF-K-SKF Miorefor 6500 min”' (20°C) Quill net weight © 3! K&
B e 2-#32210P5 ) —2 .- o
2M-50R-K-AP 9-#7210CP5 Grease 2000 min~ (15°C)

96




M, 2M, 4M-R, 4M-FRIZ—1 T ZEVFIL
M, 2M, 4M-R AND 4M-F SERIES MILLING SPINDLES

In

3-Rc1/4

230 (Microfog In)

17
i TO- o
(@) ] [E | ——
AN/ | ——
=" [ [ax
IM-50FMF-K 2-Re3/8
219 (Drain, either one to used)
Rc1/8
(Air purge) 20
f-' G
[@Q QEWF | ‘| - || |T S
N=) o i N ey
N | o :
TM-50F—K-AP and 2M-50R-K-AP
Flui 3 | EonglggeType 160 2-Rc3/8
73

4-M10X16

MI10 (3/s-16 UNC)

r‘ j
M12

2

ST ()
N\

| 4 69.832h7

Hex. socket bolt

M12(/2-13UNC}

JIS B.6101 No.30

M42P1.5(LH THD)

15.9h7 2-M6X 20
12h9

DY~ ol 3

i

80 75 /.
I~ e =
& [ B =
< | % ]
- i =

90 25

115 45

Pulley locking nut

T —Br— L HERIBET T RIERFTHRR TS,

Pulley shaft with key is available at your request. Please specify when placing an order.

97



™, 2M, 4M-R, 4M-FEIZ— LT ZEVFIL
M, 2M, 4AM-R AND 4M-F SERIES MILLING SPINDLES

MODEL 7M-60F-AP, 2M-60R-AP

) ]
= ~
— ; T L T L =
G .':’;'%.):%é {} ‘ {} — %J
€§§8 : :
N i
o © -
o gunm uE -
ué S5 . | S
o ™
200 ‘ 115 45
60 382 3 160
633
4-¢ 16 Head fixing hole 100 190 92

Arbor drawing bholt
(Standard accessory)

165

N
L

Option |
2-¢ 2007 18 Deep (Dowel hole)
(Machined at your request) 20 342+0.02
o FIB{ERMEEHESMSET TSI, ® Please specify the operating speed when placing an order.
® HBRRKRE—H—FEH ® Max. allowable motor output
IM-60F-AP: 3.7 kW TM-60F-AP: 3.7 kW
2M-60R-AP: 3.7 kW 2M-60R-AP: 3.7 kW
o JRERER @ Standard paint color
Tt ILE 75B7/2 Munsell code 7.5B7/2
* FEEEH. 1I3RA—J(FEHLOEE) R, * For CW rotation, refer to page 13 (Notices in operating).
¥ F—N—FAqA AL RO TiEETRETSLY, * Please specify the thread dimensions of the arbor
(BEMRE) drawing bolt. (Standard accessory)
BRIAE S —AHB |wAo07+5 BB A48T+ A=V MET R
Guaranteed Static Accuracy Grease Lubrication| Microfog Lubrication Microfog Unit (Number of Drops)
AEUEIL (FRF73—200 D& 15 pmb i
YEIARALLT Ak L) LA BSOFLES 1sovGaz | [M-60FMF 4 drops/min
Run-out at spindle (200 mm (free end) on test bar) Within 15 um NBU-15 TM-60FMF-SKF
HEAmXOEHRGRELR)
mst BARTYST | oo Soeed | ZTVIE g ~YRRAAIL
Model Bearings ) 0.D. of Quill Net Weight Head Fixing Bolt
(Temperature Rise)
7U_7\ . =1
TM-60F-AP 15°
S isnisap e 2500 min (15°C)
-~ 2-#7212CP5 | 24450744 i HRERE
TM-B0FMF Microfog 4000 min " (20°C) Total net weight = 00 KE 4-M14 % 60
7IJ_Z =1 3
TM-B60F-SKF-AP 0 15 130h6 (BHEAFR)
P—— S 3200 min"' (15°C) | @ R
- ~ 2-#7212CD/PA | w1 H oA 4 i s JLIET (Standard accessory)
TM-60FMF-SKF Miciofog 5200 min~ (20°C) Quill net weight ° 37 ke
g . 2-#32212P5 =2 .- o
2M-60R-AP 9-#7212CP5 Grease 1500 min~' (15°C)

98




M, 2M, 4M-R, 4M-FRIZ—1 T ZEVFIL
M, 2M, 4M-R AND 4M-F SERIES MILLING SPINDLES

3-Rc1/4
In 18 44 283 317 (Microfog In)

= o
out \\&%\Eﬁj/ ot &—‘ —

o~
\.JJ
o)

Y

38

,716%{ H
[
TM-60FMF 2-Rc3/8

263 (Drain, either one to used)

Rc1/4
(Air purge) 30

//-::. E‘—‘__ﬁ I3 'ET 2;‘ ol
DI —
) S
&)L T IE=13
T B 2
i - & N I 1 Qﬁ’ ]
7M—60F—§|I3 and 2M-60R-AP
ir purge )
Fluid Cooled Type 190 2-Rc3/8
4-M12X 20 100
S o
5 5
& = %Lg‘ii‘j ——— ) &
ole 7 =
B 3 e — Ea - e
&) 3 i { %, :
oo

8 JIS B.6101 No.40
Hex. socket bolt 16
2-M6 X 20

12h9

D4- ol g
¥ M42P1.5(LH THD)
80 75 /.

/

0= T

g =28

<

© 3 —HHTF
90 25 \Pulley locking nut
115 45

T —Br— L HERIBET T RIERTHRR TS,

Pulley shaft with key is available at your request. Please specify when placing an order.

99



™, 2M, 4M-R, 4M-FEIZ— LT ZEVFIL
M, 2M, 4M-R AND 4M-F SERIES MILLING SPINDLES

MODEL 7M-60F-K-AP, 2M-60R-K-AP

—

~

}

200

105=+0. 02

Z

200

4-¢ 16 Head fixing hole

| — — ~
= le ] (e 3
E,
8
s H iy
90 292 115 45
60 382 3 160
633
140 190 52

Option
2- ¢ 20H7
(Machined at your request)

18 Deep (Dowel hole)

Arbor drawing bolt
(Standard accessory)

165

HERMERREGEHESMLE T,
CDAREUFILORNEREE (D4)L) [XTM-60F-AP,
2M-B60R-APEBE—T, ¥ —ADHF—iI A=\ T BAT

(T2 TET,
HBERKRE—A—ED

TM-50F-K-AP:

B e

110 252+0.02
@
®
is an overhang type.
3.7 kw °®

2M-30R-K-AP: 3.7 kW

It ILE 7.5B7/2
HEEER. 183 XA—S (ERLEOXE) ¢ 5.

Max. allowable motor output 7M—50F-K-AP:

Please specify the operating speed when placing an order.
The quill of these spindles is identical to that of Models
TM-60F-AP and 2M-60R-AP, except that only the case

3.7 kW
2M-50R-K-AP: 3.7 kW

® Standard paint color Munsell code 7.5B7/2
* For CW rotation, refer to page 13 {Notices in operating).

* P—nN—FOA/RILEO AT TEETIRE TS, * Please specify the thread dimensions of the arbor drawing
(ZEMR) bolt. (Standard accessory)
BRI E F)—2BE |=1o07+5 R 4907+ 1= bETR
Guaranteed Static Accuracy Grease Lubrication| Microfog Lubrication Microfog Unit (Number of Drops)
AE VR ILRN (T AR23—200 mm®D L&) 15 umEAA ISOFLEX TM-60FMF-K :
ISO VG32 4 drops/min
Run—out at spindle (200 mm (free end) on test bar) Within 15 pm NBU-15 TM-60FMF-K-SKF
HARKEERGEELSR)
Bzt BARTULT [l Spindle Speed | 7T VIHE =R AR LE
Model Bearings ' ) 0Q.D. of Quill Net Weight Head Fixing Bolt
(Temperature Rise)
bv'J—X |
TM-60F-K-AP N
3-#7912CP4 Grease 2500 min~' (15°C)
¥ | 2-#7212CP5 TA4oa7445 Sy WEE
TM-B80FMF—K Miciaia 4000 min™" (20°C) Total net weight © ©! K& 4-M14 x 60
5U_7\ - 3
TM-60F-K-SKF-AP i ° 130h6 (FRHEHR)
p—— 3200 min"' (15°C) | @ REEMR
g e 2-#7212CD/P4 | =/ 40744 A mo, SLAIER (Standard accessory)
TM-60FMF-K—SKF Microfei 5200 min~ (20°C) Qi ristwaight 37 ke
¥ i 2-#32212P5 F1)—=2 e T
PASAORAR 2-#7212CP5 | Grease 1500 min™ " (15°C)

100




M, 2M, 4M-R, 4M-FRIZ— T AEVFIL
M, 2M, 4M-R AND 4M-F SERIES MILLING SPINDLES

3-Rc1/4
In 18 44 ‘ 283 37 (Microfog In)
\\ ﬂ HOH l@ J l@ i —T
ﬁ@ R —a
y J
=/ | R N
27— || ©) ||
TM-60FMF-K 2-Rc3/8
263 (Drain, either one to used)
Rcl/4
(Air purge) 30
Al s IR
. —
_ 2 =
Qo
m Im
7M-60F—K—2E and 2M-60R-K-AP
ir purge _
Fluid Cooled Type 210 2-Re3/8
4-M12X 20 100
(CH S
N 4
) e —frrr 7 I I i |
IP@-“?:T % g "'—‘l_-_l-' [} I :
3 9 e { ,jzg%%ffj
8 L L“_Ej \\\\ JIS B6101 No.40

Hex. socket bolt

2-M6X 20

12h9

w
W

" M42P1.5(LH THD)

75 /.

@ 42h7

=]

=

25

45

\\\\Puﬂeylocmng nut

T —BF— L RAERRE T ERTHRR TS,

Pulley shaft with key is available at your request. Please specify when placing an order.

101



M, 2M, 4M-R, 4M-FRIZ—1) L T AE VI
M, 2M, 4M-R AND 4M-F SERIES MILLING SPINDLES

MODEL 2M-75R-AP

3-Rc1/4
(Air purge) _ 21
g — | I _
I filex
=N o [T LI
= g ( /\g %\\ i i Eht%
~ 3 ﬁ“‘ \% ., 7 E:i; L I =as!
n R==d 8 S
Cw “ )
190 125 45
Option 2-Re3/8 50 400 25 170
Fluid cooling piping port 645
(Machined at your request) 4-p17
Head fixing hole 80 240 80
Arbor drawing bolt
— > &- || (Standard accessory)
2 o s [ﬁ/
Option 1 s, r——————————w Al
2-¢20H7 20 Deep(Dowel hole) — é ﬁé —
(Machined at your regquest) 60 280+0. 02

HFEERXE—S—ER
REZEE

[Es, £. HELNFhiT,
F—N—FOAURILbD R OTiEETHRE TS,
(HEEAHR)

* * O @ @

HERE AR HES MO E T,
5.5 kW
<)L{E 7.5B7/2

* @ @ @

¥*

UNC)

Please specify the operating speed when placing an order.
Max. allowable motor output 5.5kW

Standard paint color Munsell code 7.5B7/2

Applicable to CW and CCW rotation.

Please specify the thread dimensions of the arbor drawing
bolt. (Standard accessory)

\ Hex. socket bolt
\ 2-MEX 20

JIS BS101 No4D

5 B EREIE A BE

Guaranteed Static Accuracy

Grease Lubrication

12h9
- o 3
: M50P1.5(LH THD)
90 75
=) [ = E
Ty B |
100 25 Pulley locking nut
125 45
F—)—tax— L MER RETT . RIEB T TS
Pulley shaft with key is available at your request.
HY—2 s Please specify when placing an order.

AEVFILEN (TR 3—200 nmDALE)

15 umELA

ISOFLEX
\ . NBU-15
Run-out of spindle (200 mm (free end) on test bar) Within 15 pm
Ay, =
FHARXKEEHCRELSR)
Bt ERRTYLY Hae HormalEdtosle Sosed HANAE Ef YRR LS
Model Bearings : 0.D. of Quill Net Weight Head Fixing Bolt
(Temperature Rise)
Fiy—= 4-M16 X 60
2M-75R-AP 2-#32215P5 s 1000 min' 20°C)| —— 115 ke (B HR)
(Standard accessory)

102



™, 2M, 4M-R, 4M-FRIZ— LT ZE R
M, 2M, 4M-R AND 4M-F SERIES MILLING SPINDLES

MODEL 2M-75R-K-AP

3-Rc1/4
(Air purge) 21
)
= ~
R S
| L
= -
3 ) § l_ﬂt[h-ﬂ
N o o | [y s
H s
2
100 300 125 | 45
Option 2-Rc3/8 50 400 25 170
Fluid cooling piping port 645
(Machined at your request) - 17
Head fixing hole 150 200 50

Arbor drawing bolt
(Standard accessory)

N

180
—

Option
2-¢»20H7 20 Deep(Dowel hole)
(Machined at your request)

120

260+0. 02

o RIIBFAEEREESHMLE TS, ® Please specify the operating speed when placing an order.
® CMAEUFILOREMEEIF2M-T5RER—T. ® The quill of these spindles is identical to that of Models
r—ADHA— =N T BA T2 TWET, 2M-75R, except that only the case is an overhang type.

e AHEBRRKE—FI—FEAH 555kW ® Max. allowable motor output 5.5 kW

o ZHEREM wot){E 7.5B7/2 ® Standard paint color Munsell code 7.5B7/2

* \ER. E. BT, * Applicable to CW and CCW rotation.

* F—N\—FOSRLEDROTEETRE TS, * Please specify the thread dimensions of the arbor drawing
(B#EfTRE) bolt. (Standard accessory)

MS50P1.5(LH THD)
90 75
= g He————
' — - :
7 100 25 Pulley locking nut
5 L JIS B&101 No40 125 45
=t i,
K

159h7 \ 2-MBX20

T—)—wEr— L EIEERE T RER T T AL,

Pulley shaft with key is available at your request.

Please specify when placing an order.

EEROMREEHSE OB & F-
Guaranteed Static Accuracy Grease Lubrication
gy s 5 - ;
AEUFILRR (F AR A—200 mm®D {1 E) 15 umELA ISOFLEX
; s NBU-15
Run—out of spindle (200 mm (free end) on test bar) Within 15 pm
b=
Rzt ERATYLY ARRSRIER AR LR DAIHE EE AYFBRAHRILE
Model Beari M Normal Spielle Speed 0.D. of Quill Net Weight Head Fixing Bolt
ode earings (Teiipsratis Riss) .D. ui et Wei ead Fixing Bo
o 4-M16 X 60
2M-75R-K-AP 2-#32215P5 1000 min ' (20°C)| —— 115 kg (FREMR)
Grease
(Standard accessory)

103




M, 2M, 4M-R, 4M-FRIZ—1) T AE VI
M, 2M, 4M-R AND 4M-F SERIES MILLING SPINDLES

MODEL 2M-85R-AP

3-Rc1/4
(Air purge) 16
= A\
= ‘ =
! 2
©
= (=} ':HZ‘
H
I
125 50
Option 2-Rel/2 175
Fluid cooling piping port 4517
Machined at t =
(Nachined at your request) Head fixing hole 80 270 80
™~ ) Arbor drawing bolt
= % B (Standard accessory)
i [——
i \ L Ry
Option e[ e
2-¢20H7 20 Deep(Dowel hole) B i
(Machined at your request) 60 310£0.02
o HIIRERRETHESMOE T, ® Please specify the operating speed when placing an order.
® HERZRKE—HF—FH T5kW ® Max. allowable motor output 7.5kW
o ZHEFRRERE TvILE 75B7/2 ® Standard paint color Munsell code 7.5B7/2
* iR, £, 5L hid, * Applicable to CW and GCW rotation.
* P—IN—FOAURILED RO EETIRET S, * Please specify the thread dimensions of the arbor drawing

(1B#ETR) bolt. (Standard accessory)
15h9
}
4-MI6X30 - ds
0 MBOP1.5(LH THD)
95 78
o8 == = i
\ 100 25 | ™ Pulley locking nut
12 5 JIS B6101 No.50 125 50
254h7 i tﬁtiélig(!fl'“ 25|
F—)—EF— L WIERTRETY . BEB TR TS,
B IREE Hy—2iEie Pulley shaft with key is available at your request.
Guaranteed Static Accuracy Grease Lubrication | Please specify when placing an order.
it - o . E
ZEUFILER (FARA—200 mm®AOALE) 20 umELA ISOFLEX
Run-out of spindle (200 mm (free end) on test bar) Within 20 pm NS
iy =
FRARKEEHCRELSR)
Bt EAATYLY Kos: Blormmal Eofodls e HANAE iR ~YRE AL
Model Bearings : 0.D. of Quill Net Weight Head Fixing Bolt
(Temperature Rise)
Hy—z 4-M16 X 60
2M-85R-AP 2-#32217P5 Groass 900 min~' (20°C) —_— 145 kg (fREHR)
(Standard accessory)

104



™, 2M, 4M-R, 4M-FRIZ— T ZEVFIL
M, 2M, 4M-R AND 4M-F SERIES MILLING SPINDLES

MODEL 2M-85R-K-AP

3-Rc1/4
(Air purge) 16
8 A
T ~
o] | =
- <
- (T1) %T
& & :
=8 3 LT
(e}
H ter
S | +f
100 330 125 50
Option 2-Re¢l1/2 48 430 27 175
Fluid cooling piping port 680
(Machined at your request) 4-p17
Head fixing hole 150 230 50
Arbor drawing bolt
— (Standard accessory)
o ,£ """
& T _____
Option
2-¢20H7 20 Deep(Dowel hole)
(Machined at your request) 120 290+0.02

o FIMEREENESHSE TS, ®
ZORAEVFILORAEREE (Z2M-85REF— T, °
B—ZMHFHFA—IN—I\ T BALTIZE->TINVET,

Please specify the operating speed when placing an order.
The quill of these spindles is identical to that of Models
2M-85R, except that only the case is an overhang type.

® BB RKE—H—EH T5kW ® Max. allowable motor output 7.5 kW
o jEAEZRALM <t IAE 7.5B7/2 ® Standard paint color Munsell code 7.5B7/2
* [@¥E, £. BLVThiTE, * Applicable to CW and CCW rotation.
¥ P—IA—FOAVRILEQ D TRESEE TS, * Please specify the thread dimensions of the arbor drawing
(EETE) bolt. (Standard accessory)
15h9
}
4M16X30 150 - o 38
: M60P1.5(LH THD)
S .- 95 78
‘ gl T s —=] o
Bt o|c e ———— 13 E
L —
, g P \ | “_Pulley locking nut
k - N s Eein! RED 125 50
25411| Ij o, 123
T — g5 — (L EEATRE T . BB TIRR TS,
Pulley shaft with key is available at your request.
B R HFy—z Please specify when placing an order.

Guaranteed Static Accuracy

Grease Lubrication

ZAE R ILREN (F AR 3—200 mm®D &) 20 umblA

ISOFLEX
. _— NBU-15
Run—out of spindle (200 mm (free end) on test bar) Within 20 pm
e =]
mst @RATYLY mRRSRER (R EX) HANSE 8 AYFTA LR
i Max. Normal Spindle Speed > ] 2
Model Bearings N 0.D. of Quill Net Weight Head Fixing Bolt
(Temperature Rise)
Fi—z 4-M16 x 60
2M-85R-K-AP 2-#32217P5 Grease 900 min~' (20°C) _— 145 kg (EHE)
(Standard accessory)

105




M, 2M, 4M-R, 4M-FEIZ—1) L T RE VR
M, 2M, 4M-R AND 4M-F SERIES MILLING SPINDLES

MODEL 2M-100R-AP

3-Rc1/4
= (Air purge)
o
o =
3
EZ hs)
B e Bass
o — H
g &
170 145 50
Option 2-Rel/2 53 510 42 185
Fluid cooling piping port 6-p17 800
(Machined at your request) Head fixing hole 85 170 170 85
e ‘  — Arbor drawing bolt
s ) *G?’( @ (Standard accessory)
v o . ]
Option @* J & { @
2-p20H7 20 Deep (Dowel hole) T e
(Machined at your request) 70 370+0.02

HEEXE—S—BA

* * ® @ @

FEREAEGEHESMOETIL,
15 kw

* *x ® 0 ®

Please specify the operating speed when placing an order.

Max. allowable motor output 15 kW

ZAESREE  T)L{E 7.5B7/2 Standard paint color Munsell code 7.5B7/2
BlEx, £. BT AT, Applicable to CW and CCW rotation.
F—A—FOA R DR TTEETHRET S, Please specify the thread dimensions of the arbor drawing
(B#ETR) bolt. (Standard accessory)
15h9
f
4M16X30 150 - o 8
MBOP1.5(LH THD)
rgjli E 110 _._ 83
= L .
i | i —— 1
B2 T . . == £
&l ¥ I i 2 - e
13 T ——7 < ?%
- \ ol 25 | ™ Pulley locking nut
e "\_JIS B6101 No50 145 50
Hex, socket bolt ~ i
254h7 2M10%30 |25]
T—)—EF—fTEWERTRE T, FIEB TR TEL,
PR Hy—2Eie Pulley shaft with key is available at your request.
Guaranteed Static Accuracy Grease Lubrication | Please specify when placing an order.
.S = - = 5
AR LN (F AR/ A—200 mmD L&) 20 umELA ISOFLEX
Run-out of spindle (200 mm (free end) on test bar) Within 20 pm NEL-1D
i "
FRARKEEHCREELSR)
Mt ERATYLY ins Hormal SoindlesSopet SN E i YRR L
Model Bearings : 0.D. of Quill Net Weight Head Fixing Bolt
(Temperature Rise)
Hy—2 6-M16 x 70
2M-100R-AP 2-#32220P5 i 700 min ' (20°C) | —— 244 kg (B R)
(Standard accessory)

106



M, 2M, 4M-R, 4M-FRIZ— T ZAEVFIL
M, 2M, 4M-R AND 4M-F SERIES MILLING SPINDLES

MODEL 2M-120R-AP

4-Rc1/4 (Air purge) 38
5 @ Il i
= T T s
in =
52 2 4 P
4l m ~
3 gl & 7 ]
L 30H7
Option 2-Rcl/2 500 170 50
FIU|d_ cooling piping port 70 550 45 220
(Machined at your request) 885
8-¢18
) Head fixing hole 90__ 140 140 140 _40
Option Arbor drawing bolt
(Key grooves are your request) el . & & (Standard accessory)

Option mm N & |
- O B
2-¢ 30H7 30 Deep(Dowel hole) : ‘ ‘ - -
(Machined at your request) 80 440+0. 02
FEEE Production by order.
o HImFRAEGHERSMLE T, ® Please specify the operating speed when placing an order.
® MIERKE—F—EH 185kwW ® Max. allowable motor output 18.5 kW
o (EMERER TUILE 75B7/2 ® Standard paint color Munsell code 7.5B7/2
* [ElEE, £, BVTHEE, * Applicable to CW and CCW rotation.
¥ F—\—FOAURILEDRTTEEFTIEE TS, * Please specify the thread dimensions of the arbor drawing
(1EHERE) bolt. (Standard accessory)
20h9
}
150 . - o 8
AMIBX: - - MIB =
_ AMIBEX30 T :“_\“‘LNU : M80P2.0(LH THD)
/ 120 50
[ & ="t _—_l% §
\ [ g < ~
) b E % © =
\ T e L M24(1-BUNC) 140 30 Pulley locking nut
| Hex. socket bolt 12:2 170 50
254h7]_| 2-M10%30 25 N\JIS B6101 Na.50_

T — L RETRETY RERTET TS,

BRI E ) —R M8 Pulley shaft with key is available at your request.
Guaranteed Static Accuracy Grease Lubrication | Please specify when placing an order.
AEUF RN (TR R23—200 mmDLE) 20 umELR BOELEX
p s NBU-15
Run-out of spindle (200 mm (free end) on test bar) Within 20 pm
HEASRXKOERRELSR) . .
LS EARTYLY Max. Normal Spindle Spesd DALSE 52 AYRER AL
Model Bearings ’ 0.D. of Quill Net Weight Head Fixing Bolt
(Temperature Rise)
FU—2 8-M16 x 70
2M-120R-AP 2-#32224P5 Cronoe 500 min~' (20°C) —_— 320 kg (REE(TE)

(Standard accessory)

107



M, 2M, 4M-R, AM-FEIZ—1) LT AE U F)IL
M, 2M, 4M-R AND 4M-F SERIES MILLING SPINDLES

MODEL 4M-60F-AP, 4M-60R-AP

200
150
3-Re1/4
(Air purge) — L
5 Q i =
I I
\ i @1, I
o8 CI h (e
S & 5 0 JJ' BizE
2 AER
- A
85
20 200 80 | 65
Option 2-Rc3/8 85 220 39 145
Fluid cooling piping port -p18 485
(Machined at your request) ixi
¥ ¢ Head fixing hole 50 140 30
Arbor drawing bolt
S e (Standard accessory)
£ 5 EE N $ ﬁE)‘
5 it
o 8 §E 'J: 1
| = :
I 3.3 T Hljrw
= 28
e -
S5 & & e | Option
& o S & 2-¢20H7 20 Deep (Dowel hole)
120 (Machined at your request)
¢ FIRFERREGEHERMLE TS, ® Please specify the operating speed when placing an order.
® HEBRKE—HS—EH 3TkW ® Max. allowable motor output 3.7 kW
o (EHMERMER  TUILE 7.5B7/2 ® Standard paint color Munsell code 7.5B7/2
« [@&5, £, ALV T hbT, * Applicable to CW and CCW rotation.
* P—N\—ROAURILEORITEETIEET S, * Please specify the thread dimensions of the arbor drawing
(EEMBE) bolt. (Standard accessory)
12h9
ﬁ:,'c!ra‘-.-l_it line port
for bearing dismount o0 3— 3 :
AMI2X20 20 ! M42P1.5(LH THD)
M42 P15(LH THD) 70 70
Epw==C ———n = 3
14 S5 5 31
\ % L MI16 (-1 LUNCY Pull locki "
e ~._uliey locking nu
_15.9h7 H |Ir. MIZ S UNG) % -
Hex. socket bolt 2-M6X 20 B IS B.6101 No.d0
FT—)—g X — L WETRETT RIEH IR TSUL,
BRI S & - F- Pulley shaft with key is available at your request.
Guaranteed Static Accuracy Grease Lubrication | Please specify when placing an order
UK FZ s 8—200 i 15 pmb
AEVEILRN (T AR/ 8—200 mmDELiE) umElA EGRER
f - NBU-15
Run—out of spindle (200 mm (free end) on test bar) Within 15 pm
= =]
w | @@sruvgekn | RORCERRGRLR) ) e 2 ~ORBEA L
Model Bearings(SKF) - i 0.D. of Quill Net Weight Head Fixing Bolt
(Temperature Rise)
e 1-#7012CD/PATBT T—2 s WEE
AM-60F-AP | | \N3010KTN/SP Grease 5000 min™" (15°C) Total net weight = 'C K& 4-M16 X 55
¢ 145h6 (BEAR)
1-#NN3012KTN/SP »
AM-B0R-AP | 1-#234412TNO/SP gr'i;f 3400 min™' (15°C) Qumi;’\biﬁ . 40kg | (Standard accessory)
1-#NN3010KTN/SP

1

08



M, 2M, 4M-R, 4M-FRIZ—1 T ZEVFIL
M, 2M, 4M-R AND 4M-F SERIES MILLING SPINDLES

MODEL 4M-75F-AP, 4M-75R-AP

230
170 3-Rel/4
(Air purge) 15
3 A 4 =
] @' | 2
g8 2 —h e
i I —
<c\>-| i: 15
105
20 250 100 | 70
Option 2-Rc3/8 9 270 40|, 170
Fluid cooling piping port 4-¢18 575
(Machined at your request) Head fixing hole 70__ 150 50
Arbor drawing bolt
o o & o (Standard accessory)
=17 0 o
il I
of BE° [ |
S i L
2URT = B A Opti
> = A\\ Qg O ptlon
< o é 2-¢ 20H7 20 Deep (Dowe!| hole)
140 (Machined at your request)
o HERERAREHERSMLE T, ® Please specify the operating speed when placing an order.
® HEZKE—F—FN 55kW ® Max. allowable motor output 5.5 kW
o {HMEFER ILEIIE 75B7/2 ® Standard paint color Munsell code 7.5B7/2
* [ElER, £, ALTHhITE, * Applicable to CW and CCW rotation.
¥ P—NA—FOA IR D TEETHE TS0 * Please specify the thread dimensions of the arbor drawing
(IEETR) bolt. (Standard accessory)
15h9
" 100 ~ w0
1-M12X 20 . 2““ = 4%9)-‘_ X
( W60 PL5(LH THD) MB0P1.5(LH THD)
L 90 75
YN 5 S i %
=) i 0
; i =S
M6 (Fe-11UNC) \
V' Hydraulic line port for «
o Mi2(Ve-13UNC) bearing dismount 100 70 ~_Pulley locking nut
/o= ’-"7"",“: a J1S B6101 No 20 =
e T—)—lF— T WAER AT, REBIER T,
BRRIIE H—ZME Pulley shaft with key is available at your request.
Guaranteed Static Accuracy Grease Lubrication | Please specify when placing an order.
AEUR RN (TR 8—200 mmD L E) 15 pmELPR ISOFLEX
Run-out of spindle (200 mm (free end) on test bar) Within 15 pm NBL-1S
HASXKOERRELSR) 3 5
Bt | WARTYLI(SKF) et orral S St D4R E3 YRR
Model Bearings(SKF) ’ 0.D. of Quill Net Weight Head Fixing Bolt
(Temperature Rise)
1-#7015CD/PATBT J1)—2 - REE
4M-75F-AP 4 o 130k
1—#NN3013KTN/SP Grease 4000 min"" (15°C) T — & 4-M16 x 60
¢ 165h6 (RER)
1-#NNB3O15KTN/SP H1—2 OA4ILER (Standard accessory)
4M-75R-AP | 1-#234415TN9/SP Grease 2800 min~' (15°C) e 1 65 kg
1-#NN3013KTN/SP Selovrie

109



™, 2M, 4M-R, 4M-FEIZ—1) L T AE VR
M, 2M, 4AM-R AND 4M-F SERIES MILLING SPINDLES

MODEL 4M-85F-AP, 4M—-85R-AP

250
180 3-Re1/4
(Air purge) ‘
) =
(=3
e~ W ~
o //‘ '\\ {r ! ©
= Wlam)\ 3 kg
o~ \ /] )
X N s g Bl
w
20 300 110 ‘ 80
Option 2-Rc3/8 110 320 40 190
Fluid cooling piping port 660
(Machined at your reguest) G- 18
Head fixing hole 70 100_, 100 50 .
& (Standard accessory)
—r— 106 O B
|
g F i —h
En =
352 —
EE” m IR Option
& S 08 9] ) 420H7 20 Deep(ovel hole)
120 (Machined at your request)
o HERERAREHESMOETEL. ® Please specify the operating speed when placing an order.
® HEZKE—F—FH 15kW ® Max. allowable motor output 7.5 kW
o EMERIESE TLIE 75B7/2 ® Standard paint color Munsell code 7.5B7/2
* [ElER, £, ALTHhETE, * Applicable to CW and CCW rotation.
¥ P—N—FOA RILbDROTEETHE TS0 * Please specify the thread dimensions of the arbor drawing
(1ZHEHRE) bolt. (Standard accessory)
18h9
4-M16X30 ; N 150 _@a- N E
M70 PL5(LH THD) -
) S— ' M70P1.5(LH THD)
100 85

=

110 a0 . Pulley locking nut

JISBE10T NosO

T8 — L RERI BT RERIHER TS,

BRI HYy—28ie Pulley shaft with key is available at your request.
Guaranteed Static Accuracy Grease Lubrication | Please specify when placing an order.
ZEVRIL T A 73—200 i 15 pmk
EFILEN (TR mmD{IE) umElA ISOFLEX
\ . NBU-15
Run-out of spindle (200 mm (free end) on test bar) Within 15 pm
an e
FARKEEHCREELSR)
A=t BER~71)2 7 (SKF) Max. Normal Spin:e Speed TN E E ~YERARILE
Model Bearings(SKF) ) 0.D. of Quill Net Weight Head Fixing Bolt
(Temperature Rise)
s 1-#7017CD/P4TBT J)—= o =1 iy HES
4M-85F-AP 1-#NN3015KTN/SP Grease Ao min L1 2C) Total net weight 160} 6-M16 X 60
1-#NN3017KTN/SP ¢ 18006 LR
i F1)— LER Standard
AM-85R-AP | 1-#234417TN9/SP g:i =0 2500 min”' (15°C) 5 .”Nt Ei . kg | (Standard acoessory)
1-#NN3015KTN/SP RRLNeIE

110



M, 2M, 4M-R, 4M-FRIZ—1 T ZEVFIL
M, 2M, 4M-R AND 4M-F SERIES MILLING SPINDLES

MODEL 4M-100F-AP, 4M-100R-AP

280
190
3-Rc1/4
. (Air purge)
e @ ik I
= =N L e, €
// \\ {i, —" —
S (W 3 s
o ) ¢l Ly
¥ o — 5
ps| =3
370
20 350 120 _| 80
Option 2-Rel/2 i i 40,200
Fluid cooling piping port 6-318 105
Wighiinpd 4% Your Fedlest] Head fixing hole 70_125 125 50
Arbor drawing bolt
o Evr—— . (Standard accessory)
FIZE ﬁ }
S|E= 4
S e
oAl -
= S Option
> = O P O -
< G 9B ks 2-¢20H7 20 Deep (Dowel hole)
130 (Machined at your request)
AM-100F 24 B Model 4M—100F is produced by order.
® HAMERERERESMLE T, ® Please specify the operating speed when placing an order.
® HBmAE—F—FEH 15kW ® Max. allowable motor cutput 15 kW
o jZMEFREfm  wUt)L{E 75B7/2 ® Standard paint color Munsell code 7.5B7/2
* [E#x, £, ALWIFhid, * Applicable to CW and CCW rotation.
* P—NA—ROAVRILED RO EEFSHEE T EL, * Please specify the thread dimensions of the arbor drawing
(FRETRE) bolt. (Standard accessory)
24h9
4 M16X3D L s +9 g
M85 P20O(LH THD) ! - M85P2.0(LH THD)
/ 110 85
ﬂ S o
L ==l R ———=
\\ M24 (1-BUNC) Hydraulic line po
_25.4n7 2 \mm;li:; Tor bearing dismount (2 pos - - M
Hex, socket bolt 2-M10 X 20 J}*‘_{".”HH No.50 j_'J_ﬁ#_{#%@{ﬁﬂﬁE?To %Eﬁ:ﬁﬁ?élr\c
ORI E B —Z2m8 Pulley shaft with key is available at your request.
Guaranteed Static Accuracy Grease Lubrication | Please specify when placing an order.
AE R ILER (F AR 8—200 mm®D{IE) 20 umELRA .
Run—out of spindle (200 mm (free end) on test bar) Within 20 pm NELSES
& K =] = o -
Wt | WRATULIK) | IRONEIB R L) HALAHE 52 ~YFRAAILH
- pindle Spee - ) ..
Model Bearings(SKF) (Temperature Rise) 0.D. of Quill Net Weight Head Fixing Bolt
one_ap | 1-#7020CD/PATBT H—Z e BER
AM-T00F=AP | | _\N3018KTN/SP Grease 3000 min" (15°C) el T o0 6-M16 X 60
1-#NN3020KTN/SP BETOHS il
- F— L d
AM-100R-AP | 1-#234420TN9/SP Zrueasez 2200 min”' (15°C) " ,"7? Ei , Yoy | SHedendecasssony]
1-#NN3018KTN/SP Hiil net wei

111



M, 2M, 4M-R, AM-FEIZ—1) LT AE U F)IL
M, 2M, 4M-R AND 4M-F SERIES MILLING SPINDLES

MODEL 4M-120R-AP

320
210
3-Rcl1/4
@ (Air purge) %
=
| =Y
3|8 g8 =
« H RS _-JHH
3 o
o
Option 2-Re¢l1/2 140_| 90
Fluid cooling piping port 105 420 45 230
(Machined at your request) 8-¢18 800
Head fixing hole 70 100 100 100 50 .
Arbor drawing bolt
(Standard accessory)
== —IFe [ ¢ee o £
o 2E
3 = e®
= §§ LE‘é 4 } Jr_HJ
et
28 U e« . | Option
Option & © 060 9] 9 420H7 20 Deep(Dowel hole)
(Key grooves are your request) 220 (Machined at your request)

ZEEE Production by order.
® FIIBERARGHERINLE TSI, ® Please specify the operating speed when placing an order.
® IBRmARE—F—FH 185kW ® Max. allowable motor output 18.5 kKW
o jFMEFRE  TLUvILIE 75B7/2 ® Standard paint color Munsell code 7.5B7/2
* [@ER, £, ALVFhiH, * Applicable to CW and CCW rotation.
* F—N—FO/ RO R IUTEETRETSL, * Please specify the thread dimensions of the arbor drawing
(BREMRE) bolt. (Standard accessory)
28h9
4-M16X30 150 B-+ < &
.-,._#_-’L’ H - M100P2.0(LH THD)
MI100 P2O(LH THE) 130 95
| ; | — [mi
! 1 1 i@_ é _|____ o
b=
\\ Mz24(1-8UNC) Hydraulic line port Pulley locki t
25 < for hc.\;n'l:’\';;mlnc‘mﬁ 140 90 ylocxng nu
s MI16(%s-1 LUNC) (2 pos)

— JIS B6101 No50
Hex. socket balt 2-M10% 30

T —#r— LR RET Y. RERTRTI TS,

BRI E H1)—Z R Pulley shaft with key is available at your request.
Guaranteed Static Accuracy Grease Lubrication | Please specify when placing an order.
iy = s o s
AEUEILRN (TAR/ A—200 mm®D4LE) 20 pmELA ISOFLEX
2 s NBU-15
Run—out of spindle (200 mm (free end) on test bar) Within 20 ym
. EHRAsRKEGRCRELSR) .
. B~ )2 (SKF) s HoomaliErinille Sonad 4B E3 ~URB AL
Model Bearings(SKF) . 0.D. of Quill Net Weight Head Fixing Bolt
(Temperature Rise)
1-#NN3024KTN/SP ) wESE L, 8-M16 X 70
g1)—2= . Total net weight .
4M-120R-AP | 1-#234424TN9/SP Gresss 1800 min~ (15°C) ¢ 240h6 HALER (FREMNRE)
1-#NN3022KTN/SP Quill net weight - 190ke | (Standard accessory)

112




